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Roll No. ...................................  

CD–2024 

B. Com. (Part II) EXAMINATION, 2020 

(Old Course) 

(Group—I : Accounting) 

Paper Second 

COST ACCOUNTING 

Time : Three Hours 

Maximum Marks : 75 

uksV %uksV %uksV %uksV %    lHkh ik¡pik¡pik¡pik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d ,d ,d ,d iz’u    
djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZbdkbZbdkbZbdkbZ&&&&1111    
(UNIT—1) 

1- izcU/k ds fy, ykxr ys[kkadu dk D;k egRo gS \ ykxr ys[ks 
foŸkh; ys[kksa ls fdl izdkj fHkUu gSa \ 
What is the significance of Cost Accounting to 

Management ? In what respect does cost accounting differ 

from financial accounting ? 

vFkokvFkokvFkokvFkok    
(Or) 

^v* rFkk ^c* uked lkefxz;ksa dk fooj.k vxz izdkj gSa % 
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lkekU; mi;ksx 10 bdkb;k¡ izfr lIrkg izR;sd dh 

U;uwre mi;ksx 5 bdkb;k¡ izfr lIrkg izR;sd dh 

vf/kdre mi;ksx 15 bdkb;k¡ izfr lIrkg izR;sd dh 

iqu%vkns’k ek=k ^v*&60 bdkb;k¡ 

 ^c*&100 bdkb;k¡ 

iqu%vkns’k vof/k ^v*&3 ls 5 lIrkg 

 ^c*&2 ls 4 lIrkg 

izR;sd lkexzh ds fy, x.kuk dhft, % 

¼v½ iqu%vkns’k Lrj 
¼c½ U;wure Lrj 

¼l½ vf/kdre Lrj  
¼n½ vkSlr LVkWd Lrj 
The particulars of ‘A’ and ‘B’ material are as follows : 

Normal usage 10 units per week each 

Minimum usage 5 units per week each 

Maximum usage 15 units per week each 

Re-order quantity ‘A’—60 units 

 ‘B’—100 units 

Re-order period ‘A’—3 to 5 week 

 ‘B’—2 to 4 week 

Calculate for each material : 

(a) Re-order level  

(b) Minimum level 

(c) Maximum level 

(d) Average stock level 
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bdkbZbdkbZbdkbZbdkbZ&&&&2222    
(UNIT—2) 

2- Je ikfjJfed eas izsj.kkRed ;kstuk dk D;k vFkZ gS \ fdUgha 
,slh pkj pkj pkj pkj i)fr;ksa dk buds xq.k o voxq.k nsrs gq, o.kZu 
dhft,A  
What is meant by incentive plan in remuneration of  

labour ? Describe any four such methods with their merits 

and demerits.   

vFkokvFkokvFkokvFkok    
(Or) 

,d fo’ks”k e’khu ls lEcfU/kr fuEufyf[kr mifjO;;ksa ls Qjojh 
ekg dh e’khu ?k.Vk nj rS;kj dhft, % 

 izfr o”kZ izfr o”kZ izfr o”kZ izfr o”kZ 
¼¼¼¼`̀̀̀½½½½    

foHkkx dk fdjk;k ¼e’khu }kjk ?ksjh foHkkx dh  
txg 1@5½ 7,800 

izdk’k ¼foHkkx eas 12 iq#”k] 2 iq#”k e’khu ij yxs gq,½ 2,880 

chek] vkfn 360 

#bZ ds xwnM+] rsy vkfn 600 

QksjeSu dk osru ¼QksjeSu dk ,d&pkSFkkbZ le; bl 
e’khu ij yxrk gS] ‘ks”k cjkcj vU; nks e’khuksa ij½ 60,000 

e’khu dh ykxr ` 92,000 gS vkSj bldk vuqekfur vo’ks”k 
ewY; ` 2,000 gSA  
fiNys vuqHko ls ;g ekuk x;k gS % 

(i) fd e’khu izfro”kZ 1800 ?kaVs pysxhA 
(ii) fd ejEer o vuqj{k.k ds ` 11,250 iwjs thou eas e’khu 

ij yxsaxsA 

 [ 4 ] CD–2024 

 (A-40) 

(iii) fd 60 iSls izfr bdkbZ ykxr ls 5 bdkbZ ‘kfDr izfr ?k.Vk 
e’khu ij O;; gksxhA 

(iv) fd e’khu dk dk;Z’khy thou 18000 ?kaVs gksxkA 

Prepare a machine hour rate computation for the month of 

February to cover the overhead expenses indicated below 

relating to the particular machine : 

 Per 

Annum 

(`̀̀̀) 

Rent of department (space occupied by 

machine one-fifth of the department) 7,800 

Lighting (number of men in the department 12, 

2 men engaged on the machine) 2,880 

Insurance, etc.  360 

Cotton waste, oil etc.  600 

Salary of foreman (one-fourth of the 

foreman’s time is occupied by this machine 

and the remainder equally upon other two 

machines) 60,000 

The cost of the machine is ` 92,000 and has estimated 

scrap value of ` 2,000. 

It is assumed from past experience : 

(i) that the machine will work for 1800 hours per 

annum. 

(ii) that it will incur expenditure of ` 11,250 in its 

working life in respect of repairs and maintenance. 

(iii) that is consumes 5 units of power per hour at the 

cost of 60 paise per unit.  

(iv) that the working life for the machine will be 18000 

hours.  
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bdkbZbdkbZbdkbZbdkbZ&&&&3333    
(UNIT—3) 

3- eSllZ fgUnqLrku VsªMlZ rhu izdkj ds ia[ks cukrs gSa&Vsfcy ia[kk] 
lhfyax ia[kk vkSj dwyjA lkexzh vkSj etnwjh dh ykxr fuEu 
izdkj gS % 

 lkexzhlkexzhlkexzhlkexzh    
¼¼¼¼`̀̀̀½½½½    

etnwjhetnwjhetnwjhetnwjh    
¼¼¼¼`̀̀̀½½½½    

Vsfcy ia[kk 60 80 

lhfyax ia[kk 100 100 

dwyj 900 250 

mudk dqy dkj[kkuk mifjO;; vxLr] 2019 eas ` 1,00,000 
FkkA izR;sd izdkj ds ia[ks dh dkj[kkuk ykxr crkb,] ;g ekurs 
gq, fd dkj[kkuk mifjO;; ds vkcaVu gsrq ,d lhfyax ia[kk nks 
Vsfcy ia[kksa ds cjkcj rFkk ,d dwyj ik¡p Vsfcy ia[kksa ds cjkcj 
gSA vxLr] 2019 esa mRiknu dh ek=k 1000 Vsfcy ia[kk] 
500 lhfyax ia[kk rFkk 100 dwyj FkhA 

M/s. Hindustan Traders manufactures three types of fans– 

table fan, ceiling fan and cooler. The materials and wages 

costs are as under : 

 Material 

(`̀̀̀) 

Wages 

(`̀̀̀) 

Table Fan 60 80 

Ceiling Fan 100 100 

Cooler 900 250 

His total factory overheads for the month of August, 2019 

was ` 1,00,000. You are asked to determine the factory 

cost of each type of fan assuming that one ceiling fan is 
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equivalent to two table fans and one cooler is equivalent 

to five table fans for the purpose of overheads allocation. 

The production in the month of August, 2019 was 1000 

table fans, 500 ceiling fans and 100 coolers.  

vFkokvFkokvFkokvFkok    
(Or) 

‘A’ dULVªD’ku dEiuh us ,d egkfo|ky; ds u;s Hkou cukus 
dk Bsdk ` 50,00,000 eas fy;kA o”kZ ds nkSjku fuEufyf[kr O;; 
gq, % 

 ` 

lh/ks Ø; dh xbZ lkexzh 4,50,000 

LVkslZ ls fuxZfer lkexzh 5,00,000 

Iyk.V yxk;k x;k ¼ykxr½ 3,50,000 

etnwjh nh xbZ  10,00,000 

vU; O;; 1,65,000 

mikftZr etnwjh ,oa vU; O;; 4,25,000 

Bsdk dks pktZ fd, x, Iyk.V rFkk lkexzh eas ls ` 20,000 ds 
ykxr dk Iyk.V rFkk ` 1,50,000 ykxr dh lkexzh u”V gks 
xbZA ` 20,000 ykxr dh dqN lkexzh ` 25,000 eas csp nh 
xbZA o”kZ ds vafre fnu ` 5,000 ds ykxr dk Iyk.V LVkslZ dks 
okil fd;k x;k rFkk Iyk.V dk ,d fgLlk ftldh ykxr  
` 2,000 Fkh] {kfrxzLr gksus ls csdkj gks x;kA ` 24,00,000 dk 
dk;Z izekf.kr gqvk] ftldk 80 izfr’kr udn Hkqxrku eas izkIr 
gqvkA ` 10,000 dk fd;k x;k dk;Z vizekf.kr jgkA Iyk.V ij 
10 izfr’kr okf”kZd kl yxkb,A o”kZ ds fy, Bsdk [kkrk cukb, 
rFkk fpës esa Bsds lacaf/kr enksa dks fn[kkb,A 
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‘A’ Construction Company undertook a contract of  

` 50,00,000 for the construction of new building in a 

college. Following expenditures were incurred during the 

year : 

 ` 

Materials directly purchased 4,50,000 

Material issued from stores  5,00,000 

Plant installed (cost) 3,50,000 

Wages paid  10,00,000 

Other expenses  1,65,000 

Accrued wages and other expenses 4,25,000 

Of the plant and materials charged to Contract Account, 

Plant costing ` 20,000 and Materials costing ` 1,50,000 

were destroyed. Materials costing ` 20,000 were sold for 

` 25,000. Plant costing ` 5,000 was transferred to stores 

at the last day of the year and a part of the plant whose 

cost was ` 2,000 became useless due to damage. Work 

costing ` 24,00,000 was certified 80% of when was 

received in cash. Work done but not certified was  

` 10,000. Depreciate plant @ 10% per annum. Prepare 

Contract Account for the year and show the items related 

to contract in the Balance Sheet.  

bdkbZbdkbZbdkbZbdkbZ&&&&4444    
(UNIT—4) 

4- ,d mRikn rhu izfØ;kvksa ^v*] ^c* o ^l* ls xqtjrk gSA izR;sd 
izfØ;k esa lkekU; {k; fuEufyf[kr izdkj gSa % 
izfØ;k ^v*&3 izfr’kr] izfØ;k ^c*&5 izfr’kr] izfØ;k ^l*&8 
izfr’kr 
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^v* izfØ;k dk {k; 25 iSls izfr bdkbZ] ^c* izfØ;k dk 50 iSls 
izfr bdkbZ rFkk ^l* izfØ;k dk ` 1 izfr bdkbZ cspk x;kA 
vDVwcj] 2019 ds vkjEHk eas 10000 bdkb;k¡ ` 1 izfr bdkbZ 
ykxr nj ij ^v* izfØ;k dks fuxZfer dh xb±A vU; O;; 
fuEufyf[kr Fks % 

 izfØ;k izfØ;k izfØ;k izfØ;k ^̂̂̂vvvv****    
¼¼¼¼`̀̀̀½½½½    

izfØ;k izfØ;k izfØ;k izfØ;k ^̂̂̂cccc****    
¼¼¼¼`̀̀̀½½½½    

izfØ;k izfØ;k izfØ;k izfØ;k ^̂̂̂llll****    
¼¼¼¼`̀̀̀½½½½    

fofo/k lkexzh 1,000 1,500 500 

Je 5,000 8,000 6,500 

izR;{k O;; 1,050 1,188 2,009 

okLrfod mRiknu Fkk % 

izfØ;k ^v* 9500 bdkb;k¡] izfØ;k ^c* 9100 bdkb;k¡] izfØ;k 

^l* 8100 bdkb;k¡A 

;g ekurs gq, fd vkjfEHkd o vafre LVkWd dqN ugha Fkk] izfØ;k 

[kkrs cukb,A lkFk esa vlkekU; {k; rFkk vlkekU; cpr Hkh 

fn[kkb,A  

A product passes through three processes A, B and C. The 

normal wastage of each process is as follows : 

Process A–3 percent, Process B–5 percent, Process C–8 

percent.  

Wastage of Process A was sold at 25 paise per unit, that 

of Process B at a 50 paise per unit and that of Process C at 

` 1 unit. 10000 units were issued to Process A in the 



 [ 9 ] CD–2024 

 (A-40) P. T. O. 

beginning of October, 2019 at the cost of ` 1 per unit. The 

other expenses were as follows : 

 Process 

‘A’ (`̀̀̀) 

Process 

‘B’ (`̀̀̀) 

Process 

‘C’ (`̀̀̀) 

Sundry Materials 1,000 1,500 500 

Labour 5,000 8,000 6,500 

Direct Expenses 1,050 1,188 2,009 

Actual output was : 

Process A 9500 units; Process B 9100 units; Process C 

8100 units. 

Prepare the Process Account, assuming that there was no 

opening or closing stock. Also give the abnormal wastage 

or abnormal efficiency.   

vFkokvFkokvFkokvFkok    
(Or) 

,d ;krk;kr lsok dEiuh nks uxjksa ds chp tks ,d&nwljs ls 
50 fdeh- dh nwjh ij gSa] 4 clsa pyk jgh gSA izR;sd cl esa 
cSBus dh {kerk 40 ;k=h gSA vizSy] 2019 dk fuEufyf[kr 
fooj.k mudh iqLrdksa ls fy;k x;k gS % 

 ` 

Mªkbojksa o Dyhujksa dh etnwjh 1,400 

d.MDVjksa dh etnwjh 1,000 

vkWfQl LVkWQ dk osru 1,200 

Mhty vk;y ,oa vU; vkW;y 3,800 

ejEer ,oa vuqj{k.k 900 

dj ,oa chek 1,500 

kl 2,600 

jksM ykblsal ‘kqYd izfr o”kZ 500 

C;kt ,oa vU; O;; 1,500 
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;k=h tks okLro esa ys tk, x,] cSBus dh {kerk ds 75% FksA 
lHkh pkjksa clsa ekg ds leLr fnu esa pyrh gSaA izR;sd cl us 
izfrfnu ,d iwjh [ksi dhA izfr ;k=h fdeh- ifjO;; Kkr 
dhft,A  
A Transport Service Company is running 4 buses between 

two towns which are 50 km apart. Seating capacity of 

each bus is 40 passengers. The following particulars were 

obtained from their books for April, 2019 : 

 ` 

Wages of divers and cleaners  1,400 

Wages of conductors  1,000 

Salaries of office staff 1,200 

Diesel oil and other oils  3,800 

Repairs and Maintenance 900 

Taxation and Insurance  1,500 

Depreciation  2,600 

Road Licence fee per year 500 

Interest and other charges  1,500 

Actual passenger lorried were 75% of the seating 

capacity. All the four buses run on all days of the month. 

Each bus made one round trip per day. Find out the cost 

per passenger km.  

bdkbZbdkbZbdkbZbdkbZ&&&&5555    
(UNIT—5) 

5- ykxr lek/kku fooj.k ls vki D;k le>rs gSa \ ykxr ys[kksa 
}kjk fn[kk, x, ykHk rFkk foŸkh; ys[kksa }kjk fn[kk, x, ykHk eas 
vUrj eas dkj.k dks crkb,A  
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What do you understand by Cost Reconciliation 

Statement ? Discuss the causes of difference between 

Costing Profit and Financial Profit.  

vFkokvFkokvFkokvFkok    
(Or) 

fuEufyf[kr lwpukvksa ls ykHk&ek=k vuqikr] le&foPNsn fcUnq] 
lqj{kk dh lhek rFkk lqj{kk dh lhek ds izfr’kr dh x.kuk 
dhft, % 

 o”kZo”kZo”kZo”kZ&&&&I 
(`̀̀̀)    

o”kZo”kZo”kZo”kZ&&&&II 
(`̀̀̀)    

fcØh 3,00,000 3,60,000 

fLFkj ykxr 90,000 1,20,000 

ifjorZ’khy ykxr 1,50,000 2,16,000 

From the following information calculate P/V Ratio,  

B. E. P., Margin of safety and percentage of margin of 

safety : 

 Year-I 

(`̀̀̀) 

Year-II 

(`̀̀̀) 

Sales 3,00,000 3,60,000 

Fixed Cost 90,000 1,20,000 

Variable Cost 1,50,000 2,16,000 
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